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g 41 K £ OUT [ IN |TOTAL|HDCP| NET
& B HEB= 39 | 38 | 77 5 72
R RE= 38 | 39 | 77 3 74
3 i ;K BE 42 | 45 | 87 | 12 | 715
4 fI KE & 40 | 44 | 84 8 76
5 i EE A 44 | 43 | 87 | 11 76
B-G R E£= 38 | 39 | 77
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g 41 K £ OUT [ IN |TOTAL|HDCP| NET
& B EEA 44 | 39 | 83 9 74
=& HO & 4 | 41 | 8 | 10 | 75
3 fu 4 5 44 | 43 | 87 | 12 | 75
4 i EH Bh 40 | 42 | 82 6 76
5 fi ZH K 43 | 43 | 86 | 10 | 76
B-G BEH 2% 40 | 42 | 82
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g 41 K £ OUT [ IN |TOTAL|HDCP| NET
& B 1’ 1% 44 | 40 | 84 | 20 | 64
ZEB BH EX 46 | 43 | 89 | 16 | 73
3 fi Kifd &FX 46 | 46 | 92 | 19 | 73
4 i it fs=E 51 | 52 | 103 | 30 | 73
5 fi Bk E 45 | 44 | 89 | 14 | 75
B:G 1’ 1% 44 | 40 | 84
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g 41 K £ OUT [ IN |TOTAL|HDCP| NET
& B TS B 48 | 43 | 91 | 22 | 69
=& H & F 50 | 46 | 96 | 22 | 74
3 fi mE = 47 | 45 | 92 | 17 | 75
4 {i Bk Bth 49 | 45 | 94 | 18 | 76
5 fi R R 43 | 48 | 91 | 14 | 77
B:G R R 43 | 48 | 91
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